Bid Abstract

Riverside County Flood Control & Water Conservation District

ENGINEER'S ESTIMATE

BEDON CONSTRUCTION,

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: PALM CANYON WASH LEVEE REHABILITATION & CHANNEL RESTORATION

 Project Number:
 6-0-00040-00

 Bid Open Date:
 01/05/2010



					IN	IC.		
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$150,000.00	\$150,000.00	\$38,616.00	\$38,616.00	\$57,000.00	\$57,000.00
2 WATER CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$1,105.00	\$1,105.00	\$7,520.00	\$7,520.00
3 TRAFFIC CONTROL	L.S.	1	\$60,000.00	\$60,000.00	\$36,075.00	\$36,075.00	\$23,500.00	\$23,500.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$40,000.00	\$40,000.00	\$34,715.00	\$34,715.00	\$18,400.00	\$18,400.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$15.00	\$689,790.00	\$4.64	\$213,375.04	\$5.35	\$246,025.10
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$500.00	\$253,500.00	\$415.50	\$210,658.50	\$540.00	\$273,780.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$1.20	\$46,002.00	\$0.89	\$34,118.15	\$1.05	\$40,251.75
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$70.00	\$12,460.00	\$87.00	\$15,486.00	\$108.00	\$19,224.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$15.00	\$450.00	\$16.50	\$495.00	\$65.00	\$1,950.00
10 3-FOOT CABLE RAILING	L.F.	25	\$60.00	\$1,500.00	\$39.00	\$975.00	\$70.00	\$1,750.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$1,200.00	\$1,200.00	\$552.00	\$552.00	\$2,000.00	\$2,000.00
12 SOIL CEMENT	C.Y.	4,861	\$90.00	\$437,490.00	\$33.00	\$160,413.00	\$30.00	\$145,830.00
13 PORTLAND CEMENT	TONS	462	\$100.00	\$46,200.00	\$114.87	\$53,069.94	\$116.00	\$53,592.00
14 DUST ABATEMENT	L.S.	1	\$10,000.00	\$10,000.00	\$13,763.00	\$13,763.00	\$26,000.00	\$26,000.00
15 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$17,595.00	\$17,595.00	\$26,800.00	\$26,800.00
16 COLOR VARNISH	S.F.	19,921	\$0.25	\$4,980.25	\$0.30	\$5,976.30	\$0.30	\$5,976.30
				\$1,773,572.25		\$836,987.93		\$949,599.15

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

Bia Open Date: 01/05/2010		(REMEDIA CONSTRUCTO	RS, INC. dba		BASICS ACTING	KIP, INC	ORPORATED
Item No. & Description	Unit	Quantity	Unit Bid ^{RC}	C Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$62,000.00	\$62,000.00	\$81,648.00	\$81,648.00	\$55,000.00	\$55,000.00
2 WATER CONTROL	L.S.	1	\$15,500.00	\$15,500.00	\$19,622.00	\$19,622.00	\$5,500.00	\$5,500.00
3 TRAFFIC CONTROL	L.S.	1	\$20,700.00	\$20,700.00	\$51,520.00	\$51,520.00	\$60,000.00	\$60,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$26,000.00	\$26,000.00	\$35,160.00	\$35,160.00	\$62,000.00	\$62,000.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$6.16	\$283,273.76	\$6.04	\$277,893.40	\$7.10	\$326,500.60
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$500.00	\$253,500.00	\$539.78	\$273,670.49	\$475.00	\$240,825.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$0.88	\$33,734.80	\$0.67	\$25,761.12	\$1.00	\$38,335.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$66.00	\$11,748.00	\$77.86	\$13,859.08	\$40.00	\$7,120.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$57.00	\$1,710.00	\$58.34	\$1,750.20	\$120.00	\$3,600.00
10 3-FOOT CABLE RAILING	L.F.	25	\$63.00	\$1,575.00	\$64.00	\$1,600.00	\$100.00	\$2,500.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$1,760.00	\$1,760.00	\$1,800.00	\$1,800.00	\$2,100.00	\$2,100.00
12 SOIL CEMENT	C.Y.	4,861	\$36.60	\$177,912.60	\$29.21	\$141,965.51	\$40.00	\$194,440.00
13 PORTLAND CEMENT	TONS	462	\$114.00	\$52,668.00	\$104.72	\$48,380.64	\$110.00	\$50,820.00
14 DUST ABATEMENT	L.S.	1	\$16,000.00	\$16,000.00	\$66,304.00	\$66,304.00	\$31,000.00	\$31,000.00
15 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$9,400.00	\$9,400.00	\$35,168.00	\$35,168.00	\$13,000.00	\$13,000.00
16 COLOR VARNISH	S.F.	19,921	\$0.24	\$4,781.04	\$0.25	\$4,908.53	\$0.30	\$5,976.30
				\$972,263.20		\$1,081,010.97		\$1,098,716.90

Page 2 of 10

Project Number: 6-0-00040-00 Bid Op

<i>Bid Open Date:</i> 01/05/2010			BEADOR CON CO		CONST	ELAND RUCTION		NSTRUCTION & INING
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	COMP A Unit Bid	ANY, INC. Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$107,006.95	\$107,006.95	\$105,000.00	\$105,000.00	\$73,000.00	\$73,000.00
2 WATER CONTROL	L.S.	1	\$7,500.00	\$7,500.00	\$10,800.00	\$10,800.00	\$12,500.00	\$12,500.00
3 TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$9,500.00	\$9,500.00
4 CLEARING AND MISCEL	LANEOUS WORK L.S.	1	\$50,000.00	\$50,000.00	\$38,200.00	\$38,200.00	\$85,000.00	\$85,000.00
5 UNCLASSIFIED EXCAVA	TION C.Y.	45,986	\$7.50	\$344,895.00	\$6.60	\$303,507.60	\$8.65	\$397,778.90
6 CLASS "A" CONCRETE, F	LOODWALL C.Y.	507	\$525.00	\$266,175.00	\$645.00	\$327,015.00	\$535.00	\$271,245.00
7 REINFORCING STEEL, GH	RADE 60 LBS.	38,335	\$0.85	\$32,584.75	\$1.20	\$46,002.00	\$0.90	\$34,501.50
8 AGGREGATE BASE, CLA	SS 2 C.Y.	178	\$85.00	\$15,130.00	\$54.00	\$9,612.00	\$60.00	\$10,680.00
9 6-FOOT CHAIN LINK FEN	ICE L.F.	30	\$53.00	\$1,590.00	\$34.20	\$1,026.00	\$57.00	\$1,710.00
10 3-FOOT CABLE RAILING	L.F.	25	\$60.00	\$1,500.00	\$31.50	\$787.50	\$53.00	\$1,325.00
11 14-FOOT DOUBLE DRIVE	GATES EACH	H 1	\$1,600.00	\$1,600.00	\$1,155.00	\$1,155.00	\$1,800.00	\$1,800.00
12 SOIL CEMENT	С.Ү.	4,861	\$42.00	\$204,162.00	\$26.00	\$126,386.00	\$29.00	\$140,969.00
13 PORTLAND CEMENT	TONS	462	\$90.00	\$41,580.00	\$101.00	\$46,662.00	\$102.00	\$47,124.00
14 DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$81,000.00	\$81,000.00	\$9,500.00	\$9,500.00
15 STORMWATER AND NON POLLUTION CONTROL	J-STORMWATER L.S.	1	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$45,000.00	\$45,000.00
16 COLOR VARNISH	S.F.	19,921	\$0.30	\$5,976.30	\$0.26	\$5,179.46	\$0.30	\$5,976.30

\$1,124,700.00

\$1,127,332.56

Page 3 of 10

\$1,147,609.70

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

<i>Bid Open Date:</i> 01/05/2010			VANCE COF	RPORATION		NSTRUCTION, IC.	SKAN	ISKA USA
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	- 1	\$109,124.52	\$109,124.52	\$100,000.00	\$100,000.00	\$80,000.96	\$80,000.96
2 WATER CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$39,000.00	\$39,000.00	\$5,000.00	\$5,000.00
3 TRAFFIC CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$29,000.00	\$29,000.00	\$26,000.00	\$26,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$10,000.00	\$10,000.00	\$54,000.00	\$54,000.00	\$80,000.00	\$80,000.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$7.50	\$344,895.00	\$7.00	\$321,902.00	\$7.00	\$321,902.00
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$725.00	\$367,575.00	\$550.00	\$278,850.00	\$850.00	\$430,950.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$1.00	\$38,335.00	\$1.00	\$38,335.00	\$0.80	\$30,668.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$90.00	\$16,020.00	\$62.00	\$11,036.00	\$60.00	\$10,680.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$55.00	\$1,650.00	\$49.00	\$1,470.00	\$110.00	\$3,300.00
10 3-FOOT CABLE RAILING	L.F.	25	\$60.00	\$1,500.00	\$82.00	\$2,050.00	\$90.00	\$2,250.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$1,700.00	\$1,700.00	\$3,800.00	\$3,800.00	\$2,000.00	\$2,000.00
12 SOIL CEMENT	C.Y.	4,861	\$28.00	\$136,108.00	\$39.40	\$191,523.40	\$26.00	\$126,386.00
13 PORTLAND CEMENT	TONS	462	\$95.00	\$43,890.00	\$104.00	\$48,048.00	\$90.00	\$41,580.00
14 DUST ABATEMENT	L.S.	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
15 STORMWATER AND NON-STORMWATER	L.S.	1	\$40,000.00	\$40,000.00	\$41,000.00	\$41,000.00	\$25,000.00	\$25,000.00
POLLUTION CONTROL								
16 COLOR VARNISH	S.F.	19,921	\$0.25	\$4,980.25	\$0.30	\$5,976.30	\$0.24	\$4,781.04
				\$1,155,777.77		\$1,190,990.70		\$1,195,498.00

Page 4 of 10

 Project Number:
 6-0-00040-00

 Bid Open Date:
 01/05/2010

<i>Bid Open Date:</i> 01/05/2010			LARRY JA CONSTRUC			IMENTAL CTION, INC.	SRD ENGI	NEERING, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$65,000.00	\$65,000.00	\$83,340.00	\$83,340.00	\$117,000.00	\$117,000.00
2 WATER CONTROL	L.S.	1	\$46,000.00	\$46,000.00	\$5,000.00	\$5,000.00	\$7,600.00	\$7,600.00
3 TRAFFIC CONTROL	L.S.	1	\$36,000.00	\$36,000.00	\$7,000.00	\$7,000.00	\$13,000.00	\$13,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$60,000.00	\$60,000.00	\$23,260.00	\$23,260.00	\$38,000.00	\$38,000.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$7.45	\$342,595.70	\$10.30	\$473,655.80	\$11.30	\$519,641.80
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$520.00	\$263,640.00	\$750.00	\$380,250.00	\$600.00	\$304,200.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$1.25	\$47,918.75	\$1.50	\$57,502.50	\$0.97	\$37,184.95
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$77.00	\$13,706.00	\$60.00	\$10,680.00	\$92.00	\$16,376.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$102.00	\$3,060.00	\$36.00	\$1,080.00	\$56.00	\$1,680.00
10 3-FOOT CABLE RAILING	L.F.	25	\$85.00	\$2,125.00	\$31.00	\$775.00	\$62.00	\$1,550.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$1,900.00	\$1,900.00	\$1,155.00	\$1,155.00	\$1,730.00	\$1,730.00
12 SOIL CEMENT	C.Y.	4,861	\$37.00	\$179,857.00	\$21.90	\$106,455.90	\$17.30	\$84,095.30
13 PORTLAND CEMENT	TONS	462	\$98.00	\$45,276.00	\$110.00	\$50,820.00	\$101.00	\$46,662.00
14 DUST ABATEMENT	L.S.	1	\$63,000.00	\$63,000.00	\$3,000.00	\$3,000.00	\$21,000.00	\$21,000.00
15 STORMWATER AND NON-STORMWATER	L.S.	1	\$25,000.00	\$25,000.00	\$7,500.00	\$7,500.00	\$33,000.00	\$33,000.00
POLLUTION CONTROL								
16 COLOR VARNISH	S.F.	19,921	\$0.23	\$4,581.83	\$0.26	\$5,179.46	\$0.34	\$6,773.14
				\$1,199,660.28		\$1,216,653.66		\$1,249,493.19

Page 5 of 10

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

<i>Bid Open Date:</i> 01/05/2010			LB C CONSTRUC			COAST ES, INC. dba	ROAD BU	ILDERS, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	WESTERN S Unit Bid	TRUCTURES Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$80,000.00	\$80,000.00	\$153,048.47	\$153,048.47	\$166,000.00	\$166,000.00
2 WATER CONTROL	L.S.	1	\$3,000.00	\$3,000.00	\$14,955.60	\$14,955.60	\$6,000.00	\$6,000.00
3 TRAFFIC CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$80,754.78	\$80,754.78	\$49,000.00	\$49,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$31,011.86	\$31,011.86	\$100,000.00	\$100,000.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$10.80	\$496,648.80	\$8.92	\$410,195.12	\$8.40	\$386,282.40
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$500.00	\$253,500.00	\$454.93	\$230,649.51	\$500.00	\$253,500.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$1.00	\$38,335.00	\$1.30	\$49,835.50	\$1.00	\$38,335.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$65.00	\$11,570.00	\$50.00	\$8,900.00	\$52.00	\$9,256.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$120.00	\$3,600.00	\$60.06	\$1,801.80	\$107.00	\$3,210.00
10 3-FOOT CABLE RAILING	L.F.	25	\$100.00	\$2,500.00	\$65.84	\$1,646.00	\$110.00	\$2,750.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$2,200.00	\$2,200.00	\$1,848.00	\$1,848.00	\$2,000.00	\$2,000.00
12 SOIL CEMENT	C.Y.	4,861	\$46.00	\$223,606.00	\$28.30	\$137,566.30	\$20.00	\$97,220.00
13 PORTLAND CEMENT	TONS	462	\$130.00	\$60,060.00	\$120.12	\$55,495.44	\$98.00	\$45,276.00
14 DUST ABATEMENT	L.S.	1	\$20,000.00	\$20,000.00	\$54,506.38	\$54,506.38	\$53,000.00	\$53,000.00
15 STORMWATER AND NON-STORMWATER	L.S.	1	\$15,000.00	\$15,000.00	\$24,543.75	\$24,543.75	\$67,000.00	\$67,000.00
POLLUTION CONTROL								
16 COLOR VARNISH	S.F.	19,921	\$0.25	\$4,980.25	\$0.40	\$7,968.40	\$0.25	\$4,980.25
				\$1,255,000.05		\$1,264,726.91		\$1,283,809.65

Page 6 of 10

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

<i>Bid Open Date:</i> 01/05/2010			TRI-STAR CO II, I			RSIDE RUCTION		UTWEIN FRUCTION
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	~ .	\$120,000.00	\$120,000.00	\$200,000.00	\$200,000.00	\$60,000.70	\$60,000.70
2 WATER CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$45,000.00	\$45,000.00
3 TRAFFIC CONTROL	L.S.	1	\$8,000.00	\$8,000.00	\$35,000.00	\$35,000.00	\$3,000.00	\$3,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$38,000.00	\$38,000.00	\$30,000.00	\$30,000.00	\$46,500.00	\$46,500.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$7.55	\$347,194.30	\$7.00	\$321,902.00	\$17.00	\$781,762.00
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$621.00	\$314,847.00	\$830.00	\$420,810.00	\$583.00	\$295,581.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$2.85	\$109,254.75	\$1.00	\$38,335.00	\$1.00	\$38,335.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$36.00	\$6,408.00	\$106.00	\$18,868.00	\$100.00	\$17,800.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$152.00	\$4,560.00	\$55.00	\$1,650.00	\$80.00	\$2,400.00
10 3-FOOT CABLE RAILING	L.F.	25	\$95.00	\$2,375.00	\$60.00	\$1,500.00	\$10.00	\$250.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$2,900.00	\$2,900.00	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00
12 SOIL CEMENT	C.Y.	4,861	\$37.50	\$182,287.50	\$24.00	\$116,664.00	\$14.00	\$68,054.00
13 PORTLAND CEMENT	TONS	462	\$145.00	\$66,990.00	\$104.00	\$48,048.00	\$105.00	\$48,510.00
14 DUST ABATEMENT	L.S.	1	\$49,000.00	\$49,000.00	\$95,000.00	\$95,000.00	\$18,000.00	\$18,000.00
15 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$33,000.00	\$33,000.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00
16 COLOR VARNISH	S.F.	19,921	\$0.34	\$6,773.14	\$0.22	\$4,382.62	\$0.30	\$5,976.30
				\$1,316,589.69		\$1,378,859.62		\$1,440,169.00

Page 7 of 10

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

Bid Open Date: 01/05/2010			EXCAV. ENGINE			STRUCTION PANY	4-CON ENG	INEERING, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$75,000.00	\$75,000.00	\$60,000.00	\$60,000.00	\$130,000.00	\$130,000.00
2 WATER CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$2,000.00	\$2,000.00
3 TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$50,000.00	\$50,000.00	\$28,000.00	\$28,000.00	\$25,000.00	\$25,000.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$9.00	\$413,874.00	\$9.39	\$431,808.54	\$15.50	\$712,783.00
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$550.00	\$278,850.00	\$976.33	\$494,999.31	\$500.00	\$253,500.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$3.00	\$115,005.00	\$0.89	\$34,118.15	\$1.00	\$38,335.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$50.00	\$8,900.00	\$78.65	\$13,999.70	\$75.00	\$13,350.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$40.00	\$1,200.00	\$33.33	\$999.90	\$45.00	\$1,350.00
10 3-FOOT CABLE RAILING	L.F.	25	\$66.00	\$1,650.00	\$40.00	\$1,000.00	\$22.00	\$550.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,200.00	\$2,200.00
12 SOIL CEMENT	C.Y.	4,861	\$58.00	\$281,938.00	\$46.29	\$225,015.69	\$35.00	\$170,135.00
13 PORTLAND CEMENT	TONS	462	\$200.00	\$92,400.00	\$101.73	\$46,999.26	\$105.00	\$48,510.00
14 DUST ABATEMENT	L.S.	1	\$24,000.00	\$24,000.00	\$45,000.00	\$45,000.00	\$10,000.00	\$10,000.00
15 STORMWATER AND NON-STORMWATER	L.S.	1	\$25,000.00	\$25,000.00	\$33,000.00	\$33,000.00	\$10,000.00	\$10,000.00
POLLUTION CONTROL								
16 COLOR VARNISH	S.F.	19,921	\$1.00	\$19,921.00	\$0.25	\$4,980.25	\$0.25	\$4,980.25
				\$1,440,738.00		\$1,450,920.80		\$1,462,693.25

Page 8 of 10

Project Number: 6-0-00040-00 *Bid Open Date:* 01/05/2010

<i>Bid Open Date:</i> 01/05/2010			EARTH SCUL	PTURES, INC.		LLARD CTION, INC.		HLAND UCTION, INC.
tem No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$145,000.00	\$145,000.00	\$140,000.00	\$140,000.00	\$100,000.00	\$100,000.00
2 WATER CONTROL	L.S.	1	\$32,000.00	\$32,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
3 TRAFFIC CONTROL	L.S.	1	\$53,500.00	\$53,500.00	\$7,500.00	\$7,500.00	\$21,000.00	\$21,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$63,170.00	\$63,170.00	\$125,000.00	\$125,000.00	\$112,500.00	\$112,500.00
5 UNCLASSIFIED EXCAVATION	C.Y.	45,986	\$13.20	\$607,015.20	\$12.00	\$551,832.00	\$12.00	\$551,832.00
6 CLASS "A" CONCRETE, FLOODWALL	C.Y.	507	\$270.00	\$136,890.00	\$360.00	\$182,520.00	\$575.00	\$291,525.00
7 REINFORCING STEEL, GRADE 60	LBS.	38,335	\$1.20	\$46,002.00	\$0.86	\$32,968.10	\$2.00	\$76,670.00
8 AGGREGATE BASE, CLASS 2	C.Y.	178	\$90.20	\$16,055.60	\$64.00	\$11,392.00	\$98.00	\$17,444.00
9 6-FOOT CHAIN LINK FENCE	L.F.	30	\$53.00	\$1,590.00	\$70.00	\$2,100.00	\$45.00	\$1,350.00
10 3-FOOT CABLE RAILING	L.F.	25	\$72.00	\$1,800.00	\$60.00	\$1,500.00	\$43.00	\$1,075.00
11 14-FOOT DOUBLE DRIVE GATES	EACH	1	\$1,980.00	\$1,980.00	\$1,600.00	\$1,600.00	\$1,700.00	\$1,700.00
12 SOIL CEMENT	C.Y.	4,861	\$35.00	\$170,135.00	\$55.60	\$270,271.60	\$50.00	\$243,050.00
13 PORTLAND CEMENT	TONS	462	\$103.00	\$47,586.00	\$105.00	\$48,510.00	\$130.00	\$60,060.00
14 DUST ABATEMENT	L.S.	1	\$85,000.00	\$85,000.00	\$75,000.00	\$75,000.00	\$14,500.00	\$14,500.00
15 STORMWATER AND NON-STORMWATER	L.S.	1	\$55,600.00	\$55,600.00	\$16,000.00	\$16,000.00	\$5,700.00	\$5,700.00
POLLUTION CONTROL								
16 COLOR VARNISH	S.F.	19,921	\$0.25	\$4,980.25	\$0.22	\$4,382.62	\$0.50	\$9,960.50
				\$1,468,304.05		\$1,480,576.32		\$1,538,366.50

Page 9 of 10

 Project Number:
 6-0-00040-00

 Bid Open Date:
 01/05/2010

Page 10 of 10

STEELHEAD CONSTRUCTORS, INC.

1 MC 2 W2 3 TR 4 CL	A & Description OBILIZATION ATER CONTROL RAFFIC CONTROL LEARING AND MISCELLANEOUS WORK NCLASSIFIED EXCAVATION	<i>Unit</i> L.S. L.S. L.S. L.S. C.Y.	Quantity 1 1 1 1 1 45,986	Unit Bid \$40,000.00 \$500.00 \$140,000.00 \$50,000.00 \$8.85	<i>Total Bid</i> \$40,000.00 \$500.00 \$140,000.00 \$50,000.00 \$406,976.10
7 RE 8 AC 9 6-I	LASS "A" CONCRETE, FLOODWALL EINFORCING STEEL, GRADE 60 GGREGATE BASE, CLASS 2 FOOT CHAIN LINK FENCE FOOT CABLE RAILING	C.Y. LBS. C.Y. L.F. L.F.	507 38,335 178 30 25	\$950.00 \$1.00 \$50.00 \$102.00 \$85.00	\$481,650.00 \$38,335.00 \$8,900.00 \$3,060.00 \$2,125.00
12 SO 13 PO 14 DU 15 ST	I-FOOT DOUBLE DRIVE GATES DIL CEMENT ORTLAND CEMENT UST ABATEMENT FORMWATER AND NON-STORMWATER DLLUTION CONTROL	EACH C.Y. TONS L.S. L.S.	1 4,861 462 1 1	\$2,000.00 \$68.00 \$110.00 \$20,000.00 \$15,000.00	\$2,000.00 \$330,548.00 \$50,820.00 \$20,000.00 \$15,000.00
16 CC	OLOR VARNISH	S.F.	19,921	\$0.30	\$5,976.30

\$1,595,890.40